
 
ACF and LCM 2,3 5,7

Ext Find HCF and LCM of 48 and 60

2284 264
224L 230L
212L 315L
26L 5 5
33L 4I

48 2 2 x 2 2 3 24 3

60 2 2 3 5 22 3 5

Hct

48 002 200 2042
30 Hct 2 2 3

60 2 2 3 5 12

LCM

48 2 292 2 3 Lcm i 2 2 2 2 x 3 5

Go 2 2 3 5 240
All factors of both numbers

Alternative Method for Lcn o calculator exam

48 96 144

GO 120 180 240 300

Write out multiplication tables and indentify
the first number to occur in both lists



Exercise Find ACF and LCM of

84 and 120

284L 21204
244 260L
32cL 230L
77L 345
I 5,5L

84 02 02 30 7

120 X X 2 03 5 120
TX

HCE 2 2 3 12 8

LCM 2 2 2 3 5 7 840

Solving Inequalities Linear and Quadratic

Linear Solve just like linear equations
Inequality sign only changes if you
multiply or divide by a negative number

Examples

1 2 3 Ell
2 5 1 3 7 21

Zac E 11 3
5K Tx C 21 3

2X E 8 2x 18

I



IEE x7182 2

x EA x 9

Exercise
1 3 9721 2 4 8 six 27

3 7211 9 Ix Sc E 271 8

3 x 730 X E 19

731 z 19
3 I

JC 710
2 7 19

5 6
QuadraticInequalities
Examples 5 6 0

1 x 6 sett C O

l C x 6

y x 7 1 1

2 I 7 1 1030
x 2 x 5 70

Either X E 2 or X 75

Exercise

D xZ x 1220 z I 6 870



x 3 x 4 co x 2 Xtc 70

Hit
3C x 4 Either x E 4

or x 3 Z

Trinomials Expand and Simplify

Ext Xxi xtz xt3

x'txt 2x 2 at 3

si 3 2 act 3

x 3 2 2x
3 2 t 9 6

x 6 2 11 6

Ex2 2x 3 x 2 3 1

2x 3xt4x 6 3se l

2x ta 6 3 1

6 3 3
2
18

2 2 K 1 6

Gx toc 19 6

Fierce Expand



3 2 x 5 3 4

3 242 15 10 3 1 4

3 2 13 10 3 4

9
3 39 30

125 5240
9 3 27

2 82 40

I


